SAN| (&

B EBFERE XX —#BEAR

BIEBEKRAELEBEAIOR A Y

E3CLUB

Y —K&

gAKUBA

AXEHRER
INGFE ZF 3.0 km IY—

BAEIRRAVN—miRts R/—n—"7 2016/02/07 BHSARERY 11:10 #RTHERY 11:22
Yal— =274
itk B8 =8 SAN [ 3—x% 3km
HBEEER Ti# BhE HSC | 2= 46m
BHmRZEER He %— HSC | BRESiZm 23m
aitEE 75m
2R 3km
BB 1
Wi Bib  SA AR MBAR Ml mmE
1 221 hE b W/ AT 8:43.3 0.0
2 248 B 28 AEFINERRF—EB 8:43.9 +0.6
3 231 TR E£= AEFINERRF—EB 8:44.1 +0.8
4 227 IR t§§ REINER 8:56.6  +13.3
5 249 IR B AEFINERRF—EB 9:16.8  +33.5
6 222 e &E BER/NER 9:22.3  +39.0
7 236 full B HHE N 9:22.4  +39.1
8 245 AR BTE HHE N 9:33.6 +50.3
9 241 R =& AEINER 9:355  +52.2
10 238 HwE A AIBINERR 9:41.4  +58.1
11 250 i ¥R INBINERR 9:44.4 +1:.01.1
12 220 BH EX FIRRRINFER 9:47.8 +1:04.5
13 232 =i B I/ RBNERR 9:50.7 +1:07.4
14 229 BE EF FEINER 9:50.9 +1:07.6
15 243 A EB%E W/ Adb N 9:51.2 +1:07.9
16 223 tHE BRE =itiEH 10:08.3 +1:25.0
17 240 & BEE INRINERRR 10:09.8 +1:26.5
18 218 | 8] ERETXCRF—9357 10:09.9 +1:26.6
19 233 BE WX B EIL/NER 10:18.4 +1:35.1
20 228 ZE TE INBINERRR 10:26.4 +1:43.1
21 225 WA 8 W/ NENERR 10:26.5 +1:43.2
22 226 MM BBOE/ILTAvIRE 10:27.7 +1:44.4
23 251 Al B INBINERER 10:37.9 +1:54.6
24 246 A% FE FIRRRINER 10:40.2 +1:56.9
25 219 AR BN AEURF—RAR—YDE 10:42.3 +1:59.0
26 230 —F B\ BEI/NCa=7H0ORAH 10:52.6 +2:09.3
27 244 INEFE B I/ RBENERR 10:53.3 +2:10.0
28 247 BZXK 28 BER/NER 11:01.7 +2:18.4
29 224 ® Eks A HRINERR 11:11.7 +2:28.4
30 239 EE RR I/ NENERR 11:16.1 +2:32.8
234 BEX EER W/ Adb N DNF
235 B E=T ERILI/NEARR DNS
237 KE B AR ILI T SR/ N DNS
242 kB FR W/ AT DNS
Data processing by SEIKO Print Date: Sun 7 Feb 2016 Print Time: 11:23 Page: 1/2

A\

\

= SR

1588830 400l rooN =ski schoo=

HEET

=N

OIS T T B




SN

(A8 RHE R % —HEAR I

BIEBEKRAELEBEAIOR A Y

’AKUBA

E3CLUB

Y —K&

BEIORAUN)—EEE R/ —n—T

AXAIRER

INGEE ZF 3.0km 7V—

2016/02/07

BHSARERY 11:10 #RTHERY 11:22

Be b M &R A AR HOP mEE
EYE
IVM)-— SEiE DSQ DNF DNS
34 30 0 1 3
itk woLAR)—
Bf A Tl &8

Data processing by SEIKO

@A\

A

\

Print Date: Sun 7 Feb 2016 Print Time: 11:23

= SR

Page: 2/2

s

SRBaM  Faokron=si sho= ||

1
OIS T T B



